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What does this equation
become when
c=-4, m=5

—5(4c + 3m)

a

4x-4-3x5 B—(4x-443x5)

B« (4x—4+3x5)8—(4x—4x3x5)

5« (4x—4+3x5)" —4x-4-3x5
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What does this equation
become when
n=2, m=-2

—2(6n + 5m)

3 x(6x2+5x-2)3—(6x2+5x-2)
5 (6x2x5x-2)9 x2-5x-2
8x(6x2+5x-2)F -6x2-5x-2
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What does this equation
become when
n=5, d=-3

6(5n + 2d)

B (5x5+2x-3)8+ (5x5x2x-3)

§x(5x5+2x-3)9 5x5-2x-3

f

®54+5+2+-3 Bx5—2x-3
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—6(3z + 4b)

A3x4-4x-2 B-(3x-4x4x-2)

§—(3x—4+4x—2)%x(3x-41+4x-2)

§x(3x—41ax-2)T3x-4-4x-2
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What does this equation
become when
y=3, x=-5

5(4y + 3z)

B+ (4x3x3x—5)B 4 (4x343x-5)

© 4x3-3x-5 Bx(4x3+3x-5)

® 4x3-3x-5 "413434-5
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What does this equation
become when
y=-4’ p=4

3(2y + 2p)

b

A 2x—4-2x4 2 X —4—2 x4

S+ (2x-4x2x4)9x(2x-4+2x4)
S+ @x4+2xa)" 24412714
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What does this equation
become when
z=-4, y=-3

—4(3z + 4y)

Bx(3x—4+4x-3)8-(3x-444x-3)

d

©3x—4-4x-3 S4x(3x-444x-3)

§-(3x—axax-3)"-3x-4-4x-3
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